

CHARACTERIZING COMPLETELY MULTIPLICATIVE FUNCTIONS BY GENERALIZED MÖBIUS FUNCTIONS

VICHIAN LAOHAKOSOL, NITTIYA PABHAPOTE,
 and NALINEE WECHWIRIYAKUL

Received 23 March 2001 and in revised form 15 August 2001

Using the generalized Möbius functions, μ_α , first introduced by Hsu (1995), two characterizations of completely multiplicative functions are given; save a minor condition they read $(\mu_\alpha f)^{-1} = \mu_{-\alpha} f$ and $f^\alpha = \mu_{-\alpha} f$.

2000 Mathematics Subject Classification: 11A25.

1. Introduction. Hsu [6], see also Brown et al. [3], introduced a very interesting arithmetic function

$$\mu_\alpha(n) = \prod_{p|n} \binom{\alpha}{v_p(n)} (-1)^{v_p(n)}, \quad (1.1)$$

where $\alpha \in \mathbb{R}$, and $n = \prod_{p \text{ prime}} p^{v_p(n)}$ denotes the prime factorization of n .

This function is called the generalized Möbius function because $\mu_1 = \mu$, the well-known Möbius function. Note that $\mu_0 = I$, the identity function with respect to Dirichlet convolution, $\mu_{-1} = \zeta$, the arithmetic zeta function and $\mu_{\alpha+\beta} = \mu_\alpha * \mu_\beta$; α, β being real numbers. Recall that an arithmetic function f is said to be completely multiplicative if $f(1) \neq 0$ and $f(mn) = f(m)f(n)$ for all m and n . As a tool to characterize completely multiplicative functions, Apostol [1] or Apostol [2, Problem 28(b), page 49], it is known that for a multiplicative function f , f is completely multiplicative if and only if

$$(\mu f)^{-1} = \mu^{-1} f = \mu_{-1} f. \quad (1.2)$$

Our first objective is to extend this result to μ_α .

THEOREM 1.1. *Let f be a nonzero multiplicative function and α a nonzero real number. Then f is completely multiplicative if and only if*

$$(\mu_\alpha f)^{-1} = \mu_{-\alpha} f. \quad (1.3)$$

In another direction, Haukkanen [5] proved that if f is a completely multiplicative function and α a real number, then $f^\alpha = \mu_{-\alpha} f$. Here and throughout, all powers refer to Dirichlet convolution; namely, for positive integral α , define $f^\alpha := f * \cdots * f$ (α times) and for real α , define $f^\alpha = \text{Exp}(\alpha \text{Log } f)$, where Exp and Log are Rearick's operators [9]. Our second objective is to establish the converse of this result. There

is an additional hypothesis, referred to as condition (NE) which appears frequently. By condition (NE), we refer to the condition that: *if α is a negative even integer, then assume that $f(p^{-\alpha-1}) = f(p)^{-\alpha-1}$ for each prime p .*

THEOREM 1.2. *Let f be a nonzero multiplicative function and $\alpha \in \mathbb{R} - \{0, 1\}$. Assuming condition (NE), if $f^\alpha = \mu_{-\alpha}f$, then f is completely multiplicative.*

Because of the different nature of the methods, the proof of Theorem 1.2 is divided into two cases, namely, $\alpha \in \mathbb{Z}$ and $\alpha \notin \mathbb{Z}$. As applications of Theorem 1.2, we deduce an extension of Corollary 3.2 in [11] and a modified extension of [7, Theorem 4.1(i)].

2. Proof of Theorem 1.1. If f is completely multiplicative, then $(\mu_\alpha f)^{-1} = \mu_{-\alpha}f$ follows easily from Haukkanen's theorem [5]. To prove the other implication, it suffices to show that $f(p^k) = f(p)^k$ for each prime p and nonnegative integer k . This is trivial for $k = 0, 1$. Assuming $f(p^j) = f(p)^j$ for $j = 0, 1, \dots, k-1$, we proceed by induction to settle the case $j = k > 1$. From hypothesis, we get

$$\mu_\alpha f * \mu_{-\alpha} f = I. \quad (2.1)$$

Thus

$$\begin{aligned} 0 = I(p^k) &= \sum_{i+j=k} \mu_{-\alpha}(p^i) f(p^i) \mu_\alpha(p^j) f(p^j) \\ &= (-1)^k \sum_{i+j=k} \binom{-\alpha}{i} \binom{\alpha}{j} f(p^i) f(p^j). \end{aligned} \quad (2.2)$$

Simplifying and using induction hypothesis, we get

$$-\left[\binom{\alpha+k-1}{k} + (-1)^k \binom{\alpha}{k} \right] f(p^k) = \sum_{j=1}^{k-1} \left[(-1)^j \binom{\alpha}{j} \binom{\alpha+k-j-1}{k-j} \right] f(p)^k. \quad (2.3)$$

From Riordan [10, identity (5), page 8], the coefficient of $f(p)^k$ on the right-hand side is equal to

$$\begin{aligned} 0 - \left[(-1)^0 \binom{\alpha}{0} \binom{\alpha+k-1}{k} + (-1)^k \binom{\alpha}{k} \binom{\alpha+k-k-1}{k-k} \right] \\ = - \left[\binom{\alpha+k-1}{k} + (-1)^k \binom{\alpha}{k} \right] \neq 0 \end{aligned} \quad (2.4)$$

and the desired result follows.

REMARK 2.1. (1) To prove the “only if” part of Theorem 1.1, instead of using Haukkanen's result, a direct proof based on [1, Theorem 4(a)] can be done as follows: if f is completely multiplicative, then $(\mu_\alpha f) * (\mu_{-\alpha} f) = (\mu_\alpha * \mu_{-\alpha}) f = \mu_0 f = I f = I$.

(2) To prove the “if” part of [Theorem 1.1](#), instead of using [10, identity (5)], a self-contained proof can be done as follows: from $(1+z)^\alpha \cdot (1+z)^{-\alpha} = 1$ we infer that, for $k > 1$,

$$\sum_{i+j=k} \binom{-\alpha}{i} \binom{\alpha}{j} = 0 \quad (2.5)$$

which implies

$$\binom{-\alpha}{k} + \binom{\alpha}{k} = - \left[\sum_{i=1}^{k-1} \binom{-\alpha}{i} \binom{\alpha}{k-i} \right]. \quad (2.6)$$

Thus,

$$\begin{aligned} 0 &= \sum_{i+j=k} \binom{-\alpha}{i} \binom{\alpha}{j} f(p^i) f(p^j) \\ &= \left[\binom{-\alpha}{k} + \binom{\alpha}{k} \right] f(p^k) + \left[\sum_{i=1}^{k-1} \binom{-\alpha}{i} \binom{\alpha}{k-i} \right] f(p)^k \end{aligned} \quad (2.7)$$

implies $f(p^k) = f(p)^k$.

3. Proof of Theorem 1.2. The proof of [Theorem 1.2](#) is much more involved and we treat the integral and nonintegral cases separately. This is because the former can be settled using only elementary binomial identities, while the proof of the latter, which is also valid for integral α , makes use of Rearick logarithmic operator, which deems nonelementary to us.

PROPOSITION 3.1. *Let f be a nonzero multiplicative function and r a positive integer ≥ 2 . If $f^r = \mu_{-r} f$, then f is completely multiplicative.*

PROOF. Since f is multiplicative, it is enough to show that

$$f(p^k) = f(p)^k, \quad (3.1)$$

where p is a prime and k a nonnegative integer. This clearly holds for $k = 0, 1$. As an induction hypothesis, assume this holds for $0, 1, \dots, k-1$ (≥ 1).

From

$$(\mu_{-r} f)(p^k) = f^r(p^k), \quad (3.2)$$

we get, using induction hypothesis,

$$\begin{aligned} \binom{-r}{k} (-1)^k f(p^k) &= \sum_{j_1 + \dots + j_r = k} f(p^{j_1}) f(p^{j_2}) \dots f(p^{j_r}) \\ &= r f(p^k) + f(p)^k \sum_{\substack{j_1 + \dots + j_r = k \\ \text{all } j_i \neq k}} 1. \end{aligned} \quad (3.3)$$

Simplifying, we arrive at

$$\left[\binom{k+r-1}{r-1} - r \right] (f(p^k) - f(p)^k) = 0. \quad (3.4)$$

Since $r \geq 2$, then $\binom{k+r-1}{r-1} - r \neq 0$, and we have the result. \square

REMARK 3.2. The case $r = 1$ is excluded for $\mu_{-1}f = \zeta f$ is always equal to f , and so the assumption is empty. The case $r = 0$ is excluded because $I = f^0 = \mu_0 f = If$ holds for any arithmetic function f with $f(1) = 1$.

PROPOSITION 3.3. *Let f be a nonzero multiplicative function and $-\alpha = r$ a positive integer. Assuming condition (NE), if $f^{-r} = \mu_r f$, then f is completely multiplicative.*

PROOF. As in Proposition 3.1, we show by induction that $f(p^k) = f(p)^k$ for prime p and nonnegative integer k , noting that it holds trivially for $k = 0, 1$. The main assumption of the theorem gives

$$\mu_r f * f^r = I. \quad (3.5)$$

We have, for $k \geq 2$,

$$0 = I(p^k) = \sum_{i+j_1+\dots+j_r=k} (\mu_r f)(p^i) f(p^{j_1}) \cdots f(p^{j_r}). \quad (3.6)$$

Using induction hypothesis and [10, identity (5)], the right-hand expression is

$$\begin{aligned} & \sum_{j_1+\dots+j_r=k} f(p^{j_1}) \cdots f(p^{j_r}) + f(p)^k \sum_{i=1}^{k-1} (-1)^i \binom{r}{i} \sum_{j_1+\dots+j_r=k-i} 1 + (\mu_r f)(p^k) \\ &= r f(p^k) + f(p)^k \left[\binom{k+r-1}{r-1} - r \right] + f(p)^k \sum_{i=1}^{k-1} (-1)^i \binom{r}{i} \binom{k-i+r-1}{r-1} \\ &+ (-1)^k \binom{r}{k} f(p^k) = \left[r + (-1)^k \binom{r}{k} \right] (f(p^k) - f(p)^k). \end{aligned} \quad (3.7)$$

For positive integers r and k (≥ 2), observe that $r + (-1)^k \binom{r}{k} = 0$ if and only if $k = r - 1$ and k is odd. The conclusion hence follows. \square

REMARK 3.4. In the case of r being a positive even integer, without an additional assumption on $f(p^{r-1})$, Proposition 3.3 fails to hold as seen from the following example.

Take $r = 4$. For each prime p , set

$$f(1) = f(p) = f(p^2) = 1, \quad f(p^3) = 0 \quad (3.8)$$

and for $k \geq 4$, define $f(p^k)$ by the relation $(\mu_4 f * f^4)(p^k) = I(p^k) = 0$.

Define other values of f by multiplicativity, namely,

$$f(p_1^{a_1} \cdots p_k^{a_k}) = f(p_1^{a_1}) \cdots f(p_k^{a_k}); \quad (3.9)$$

p_i prime, a_i nonnegative integer. This particular function satisfies $\mu_4 f = f^{-4}$ and is multiplicative, but not completely multiplicative.

Now for the case of nonintegral index, we need one more auxiliary result. For more details about the Rearick logarithm, see [8, 9].

LEMMA 3.5. *Let f be an arithmetic function, p a prime, k a positive integer, and let Log denote the Rearick logarithmic operator defined by*

$$\begin{aligned}\text{Log } f(1) &= \log f(1), \\ \text{Log } f(n) &= \frac{1}{\log n} \sum_{d|n} f(d) f^{-1}\left(\frac{n}{d}\right) \log d \quad (n > 1).\end{aligned}\quad (3.10)$$

If $f(1) = 1$, $f(p^i) = f(p)^i$ ($i = 1, 2, \dots, k-1$), then

$$(\text{Log } f)(p^i) = \frac{f(p)^i}{i} \quad (i = 1, 2, \dots, k-1). \quad (3.11)$$

PROOF. From hypothesis, we have

$$f(1) = f^{-1}(1) = 1, \quad f^{-1}(p) = -f(p), \quad (3.12)$$

and so

$$\text{Log } f(1) = 0, \quad \text{Log } f(p) = f(p). \quad (3.13)$$

Next,

$$\text{Log } f(p^2) = \frac{1}{\log p^2} [f(p^2) \log p^2 + f(p) f^{-1}(p) \log p] = \frac{1}{2} f(p)^2. \quad (3.14)$$

Now proceed by induction noting, as in the lemma of Carroll [4], that $f(1) = 1$ and $f(p^i) = f(p)^i$ ($i = 1, \dots, k-1$) imply $f^{-1}(p^i) = 0$ ($i = 2, 3, \dots, k-1$). We thus have

$$\begin{aligned}\text{Log } f(p^i) &= \frac{1}{i} \sum_{s+t=i} s f(p^s) f^{-1}(p^t) \\ &= \frac{1}{i} (i f(p^i) - (i-1) f(p^{i-1}) f(p)) \\ &= \frac{1}{i} f(p)^i.\end{aligned}\quad (3.15)$$

□

Now for the final case, we prove the following proposition.

PROPOSITION 3.6. *Let f be multiplicative and $\alpha \in \mathbb{R} - \mathbb{Z}$. If $f^\alpha = \mu_{-\alpha} f$, then f is completely multiplicative.*

PROOF. As before, we proceed by induction on nonnegative integer k to show that $f(p^k) = f(p)^k$ the result being trivial for $k = 0, 1$.

Let D be the log-derivation on the ring of arithmetic functions (cf. [7, 8, 9]). Since

$$D(f^\alpha) = \alpha f^{\alpha-1} * Df = \alpha f^\alpha * D(\text{Log } f) = \alpha \mu_{-\alpha} f * D(\text{Log } f), \quad (3.16)$$

where Log denotes the Rearick logarithmic operator mentioned in [Lemma 3.5](#), then taking derivation D on both sides of $\mu_{-\alpha}f = f^\alpha$ and evaluating at p^k , we get

$$(\mu_{-\alpha}f(p^k)) \log p^k = \alpha \sum_{i+j=k} (\mu_{-\alpha}f(p^i)) (\text{Log} f)(p^j) \log p^j, \quad (3.17)$$

that is,

$$\begin{aligned} (-1)^k k \binom{-\alpha}{k} f(p^k) &= \alpha \left[\binom{-\alpha}{0} k (\text{Log} f)(p^k) \right. \\ &\quad \left. + \dots + (-1)^{k-1} \binom{-\alpha}{k-1} f(p^{k-1}) (\text{Log} f)(p) \right]. \end{aligned} \quad (3.18)$$

Using induction hypothesis and the lemma, we have

$$\begin{aligned} (-1)^k k \binom{-\alpha}{k} f(p^k) &= \alpha \binom{-\alpha}{0} k \left(-\frac{k-1}{k} f(p)^k + f(p^k) \right) \\ &\quad + \dots + \alpha (-1)^{k-1} \binom{-\alpha}{k-1} f(p^{k-1}) f(p) \end{aligned} \quad (3.19)$$

and so with the aid of [\[10, identity \(5\)\]](#), we get

$$\left[(-1)^k k \binom{-\alpha}{k} - \alpha k \right] f(p^k) = \left[\alpha \binom{\alpha+k-1}{k-1} - \alpha k \right] f(p)^k. \quad (3.20)$$

Since $\alpha \in \mathbb{R} - \mathbb{Z}$, then the coefficients on both sides are the same nonzero real number, which immediately yields the desired conclusion. \square

The following corollaries are immediate consequences of [Theorem 1.2](#) and the main theorem in [\[5\]](#).

COROLLARY 3.7 (cf. [\[11, Corollary 3.2\]](#)). *Let $\alpha \in \mathbb{R} - \{0, 1\}$, $k \in \mathbb{R}$, and f a nonzero multiplicative function. Define*

$$E^k(n) = n^k \quad (n \in \mathbb{N}), \quad \tau = \mu_{-\alpha}f, \quad \phi_\tau^{(k)} = E^k * \tau. \quad (3.21)$$

*If f is completely multiplicative, then $\phi_\tau^{(k)} = E^k * f^\alpha$, and the converse is true provided condition (NE) holds.*

COROLLARY 3.8 (cf. [\[7, Theorem 4.1\(i\)\]](#)). *Let $\alpha \in \mathbb{R} - \{0, 1\}$ and f a nonzero multiplicative function. If f is completely multiplicative, then*

$$f * \text{Log} \mu_{-\alpha}f = \alpha (f * \text{Log} f) \quad (3.22)$$

and the converse is true provided that condition (NE) holds.

ACKNOWLEDGMENTS. We wish to thank the referees for many useful suggestions which help improving the paper considerably. Our special thanks go to Professor P. Haukkanen who generously supplied us with a number of references.

REFERENCES

- [1] T. M. Apostol, *Some properties of completely multiplicative arithmetical functions*, Amer. Math. Monthly **78** (1971), 266–271.
- [2] ———, *Introduction to Analytic Number Theory*, Undergraduate Texts in Mathematics, Springer-Verlag, New York, 1976.
- [3] T. C. Brown, L. C. Hsu, J. Wang, and P. J.-S. Shiue, *On a certain kind of generalized number-theoretical Möbius function*, Math. Sci. **25** (2000), no. 2, 72–77.
- [4] T. B. Carroll, *A characterization of completely multiplicative arithmetic functions*, Amer. Math. Monthly **81** (1974), 993–995.
- [5] P. Haukkanen, *On the real powers of completely multiplicative arithmetical functions*, Nieuw Arch. Wisk. (4) **15** (1997), no. 1-2, 73–77.
- [6] L. C. Hsu, *A difference-operational approach to the Möbius inversion formulas*, Fibonacci Quart. **33** (1995), no. 2, 169–173.
- [7] V. Laohakosol, N. Pabhapote, and N. Wechwiriyaikul, *Logarithmic operators and characterizations of completely multiplicative functions*, Southeast Asian Bull. Math. **25** (2001), no. 2, 273–281.
- [8] D. Rearick, *Operators on algebras of arithmetic functions*, Duke Math. J. **35** (1968), 761–766.
- [9] ———, *The trigonometry of numbers*, Duke Math. J. **35** (1968), 767–776.
- [10] J. Riordan, *Combinatorial Identities*, John Wiley & Sons, New York, 1968.
- [11] J. Wang and L. C. Hsu, *On certain generalized Euler-type totients and Möbius-type functions*, Dalian University of Technology, China, preprint.

VICHIAN LAOHAKOSOL: DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, KASETSART UNIVERSITY, BANGKOK 10900, THAILAND

E-mail address: fscivi1@nontri.ku.ac.th

NITTIYA PABHAPOTE: DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, THE UNIVERSITY OF THE THAI CHAMBER OF COMMERCE, BANGKOK 10400, THAILAND

E-mail address: anipa@mail.utcc.ac.th

NALINEE WECHWIRIYAKUL: DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, THE UNIVERSITY OF THE THAI CHAMBER OF COMMERCE, BANGKOK 10400, THAILAND

E-mail address: anawe@mail1.utcc.ac.th

Special Issue on Modeling Experimental Nonlinear Dynamics and Chaotic Scenarios

Call for Papers

Thinking about nonlinearity in engineering areas, up to the 70s, was focused on intentionally built nonlinear parts in order to improve the operational characteristics of a device or system. Keying, saturation, hysteretic phenomena, and dead zones were added to existing devices increasing their behavior diversity and precision. In this context, an intrinsic nonlinearity was treated just as a linear approximation, around equilibrium points.

Inspired on the rediscovering of the richness of nonlinear and chaotic phenomena, engineers started using analytical tools from “Qualitative Theory of Differential Equations,” allowing more precise analysis and synthesis, in order to produce new vital products and services. Bifurcation theory, dynamical systems and chaos started to be part of the mandatory set of tools for design engineers.

This proposed special edition of the *Mathematical Problems in Engineering* aims to provide a picture of the importance of the bifurcation theory, relating it with nonlinear and chaotic dynamics for natural and engineered systems. Ideas of how this dynamics can be captured through precisely tailored real and numerical experiments and understanding by the combination of specific tools that associate dynamical system theory and geometric tools in a very clever, sophisticated, and at the same time simple and unique analytical environment are the subject of this issue, allowing new methods to design high-precision devices and equipment.

Authors should follow the Mathematical Problems in Engineering manuscript format described at <http://www.hindawi.com/journals/mpe/>. Prospective authors should submit an electronic copy of their complete manuscript through the journal Manuscript Tracking System at <http://mts.hindawi.com/> according to the following timetable:

Manuscript Due	December 1, 2008
First Round of Reviews	March 1, 2009
Publication Date	June 1, 2009

Guest Editors

José Roberto Castilho Piqueira, Telecommunication and Control Engineering Department, Polytechnic School, The University of São Paulo, 05508-970 São Paulo, Brazil; piqueira@lac.usp.br

Elbert E. Neher Macau, Laboratório Associado de Matemática Aplicada e Computação (LAC), Instituto Nacional de Pesquisas Espaciais (INPE), São José dos Campos, 12227-010 São Paulo, Brazil ; elbert@lac.inpe.br

Celso Grebogi, Center for Applied Dynamics Research, King's College, University of Aberdeen, Aberdeen AB24 3UE, UK; grebogi@abdn.ac.uk